## Informational Report for the March 18, 2014 Board of Trustees Meeting

			New Emp to			Hourby		Maximum	Accian	Assign
First Name	мі	Site		Duties	Division	Rate	Maximum	Amount	Beg. Date	End Date
ommunity Education	on									
				adults and youth to	Community					
Candace	E.	Chabot	No	Education students	Education	\$45.00	24	\$1,080.00	2/22/2014	6/30/2014
				To teach First Aid/CPR to Community	Community					
Christopher	S.	Chabot	No	Education students	Education	\$55.00	14	\$770.00	3/1/2014	6/30/2014
Mary Lou	nmi	Chabot	No		Community Education	\$30.00	24	\$720.00	3/3/2014	6/30/2014
				To assist with planning, marketing, and implementation of Community Education's Kids on Campus summer	Community					
Victoria	A.	Chabot	No	camp	Education	\$25.00	80	\$2,000.00	3/3/2014	5/2/2014
				Aerobics to Community	Community					
Nancy	S.	Chabot	No	Education students	Education	\$45.00	36	\$1,620.00	3/4/2014	6/30/2014
				Makeover to Community	Community					
Helene	nmi	Chabot	No	Education students	Education	\$23.60	10	\$236.00	3/15/2014	6/30/2014
-	Candace Christopher Mary Lou Victoria	Immunity Education       Candace     E.       Candace     S.       Christopher     S.       Mary Lou     nmi       Victoria     A.       Nancy     S.	Image: mail of the second symmetry       Image: mail of the second symmetry         Candace       E.       Chabot         Candace       S.       Chabot         Christopher       S.       Chabot         Mary Lou       nmi       Chabot         Victoria       A.       Chabot         Nancy       S.       Chabot	ommunity Education       Image: constraint of the second state of	First NameMISiteDistrictDutiesmmunity EducationImage: State of the st	First NameMISiteDistrictDutiesDivisionmmunity EducationIIIIIcandaceE.ChabotNoEducation studentsEducationCandaceE.ChabotNoEducation studentsEducationChristopherS.ChabotNoEducation studentsEducationMary LounmiChabotNoEducation studentsEducationMary LounmiChabotNoEducation studentsEducationVictoriaA.ChabotNoEducation studentsEducationVictoriaA.ChabotNoEducation studentsEducationNancyS.ChabotNoEducation studentsEducationVictoriaA.ChabotNoEducation studentsEducationNancyS.ChabotNoEducation studentsEducationNancyS.ChabotNoEducation studentsEducationNancyS.ChabotNoEducation studentsEducationNancyS.ChabotNoEducation studentsEducationNancyS.ChabotNoEducation studentsEducationNancyS.ChabotNoEducation studentsEducationNancyS.ChabotNoEducation studentsEducationCommunityCommunityCommunityCommunityEducationNancyS.Chabot <t< td=""><td>First NameMISiteDistrictDutiesDivisionRatemmunity EducationImage: Site of the second se</td><td>First NameMISiteDistrictDutiesDivisionRateMaximummmunity Education<!--</td--><td>First NameMISiteDistrictDutiesDivisionRateMaximumAmountmmunityCandaceIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII</td><td>First NameMISiteDistrictDutiesDivisionRateMaximumAmountBeg. DateImmunity EducationImage: CandaceImage: Candace</td></td></t<>	First NameMISiteDistrictDutiesDivisionRatemmunity EducationImage: Site of the second se	First NameMISiteDistrictDutiesDivisionRateMaximummmunity Education </td <td>First NameMISiteDistrictDutiesDivisionRateMaximumAmountmmunityCandaceIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII</td> <td>First NameMISiteDistrictDutiesDivisionRateMaximumAmountBeg. DateImmunity EducationImage: CandaceImage: Candace</td>	First NameMISiteDistrictDutiesDivisionRateMaximumAmountmmunityCandaceIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII	First NameMISiteDistrictDutiesDivisionRateMaximumAmountBeg. DateImmunity EducationImage: CandaceImage: Candace

## Informational Report for the March 18, 2014 Board of Trustees Meeting

				New							
				Emp to			Hourly		Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division	Rate	Maximum	Amount	Beg. Date	End Date
Chabot College											
					To provide education support to Early Childhood Development for Spanish cohort students and						
Macco	Mercedes	R.	Chabot	No	practicum mentoring	Social Science	\$15.00	50	\$750.00	2/24/2014	5/28/2014
					To provide PRIDE training for the Foster and Kinship Care Education	Foster and Kinship Care					
Nalls	Rosalind	Α.	Chabot	Yes	Program	Education	\$65.00	48	\$3,120.00	3/16/2014	6/30/2014
Page	Thema	S.	Chabot	Yes	To provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	\$65.00	48	\$3,120.00	3/16/2014	6/30/2014
Panella	Juztino	N.M.	Chabot	No	To provide mental health services to students as a mental health intern	Counseling	\$10.44	204	\$2,129.76	1/16/2014	6/30/2014
				Mag	To provide PRIDE training for the Foster and Kinship Care Education	Foster and Kinship Care					
Suarez	Martha	E.	Chabot	Yes	Program To teach Android Applications for Beginners classes to Community	Community	\$65.00	48	\$3,120.00	3/1/2014	6/30/2014
Traugott	Jonathan	C.	Chabot	No	Education students	Education	\$45.00	12	\$540.00	4/5/2014	6/30/2014

## Informational Report for the March 18, 2014 Board of Trustees Meeting

## Professional Expert Appointments

				New							
				Emp to			Hourly		Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Rate	Maximum	Amount	Beg. Date	End Date
Las Positas - Commu	unity Education										
					To teach music to						
					Community	Community					
Broida	David	F.	Las Positas	No	Education students	Education	\$30.00	25	\$750.00	1/24/2014	6/30/2014
					To teach Language						
					classes to						
					Community	Community					
Crosetti	John	Α.	Las Positas	Yes	Education students	Education	\$30.00	50	\$1,500.00	2/21/2014	6/30/2014
					To teach Parenting						
					classes to						
					Community	Community					
Dozier	Thomas	Н.	Las Positas	No	Education students	Education	\$30.00	50	\$1,500.00	1/24/2014	6/30/2014
Gentile	Lisa	R.D.	Las Positas	Yes	To teach Wellness & Psychology classes to Community Education students	Community Education	\$30.00	50	\$1,500.00	3/1/2014	6/30/2014
Golanty	Eric	nmi	Las Positas	No	To teach an online Health & Wellness Activity Instruction class to Community Education students	Community Education	\$50.00	100	\$5,000.00	1/24/2014	6/30/2014
Hall-Patterson	Kris	nmi	Las Positas	No	To teach Medical Assisting/Billing to Community Education students	Community Education	\$30.00	50	\$1,500.00	2/26/2014	6/30/2014
Iglehart	Sandra	K.	Las Positas	Yes	To teach piano classes to Community Education students	Community Education	\$45.00	18	\$810.00	2/22/2014	6/30/2014
Kechich	Sonia	nmi	Las Positas	No	To teach Language classes to Community Education students	Community Education	\$30.00	50	\$1,500.00	1/24/2014	6/30/2014

\* Weekly hiring limitations are to be monitored by the hiring manager \*

## Informational Report for the March 18, 2014 Board of Trustees Meeting

				New							
				Emp to			Hourly		Maximum	Assign	Assign
Last Name	First Name	MI	Site	District		Division	Rate	Maximum	Amount	Beg. Date	End Date
					To teach Wellness						
					and Physical Activity						
					classes to						
					Community	Community					
Kutil	Craig	Α.	Las Positas	No	Education students	Education	\$30.00	200	\$6,000.00	1/24/2014	6/30/2014
					To teach						
					Photography,						
					Computer and Art						
					classes to						
					Community	Community					
Ligon	Jack	L.	Las Positas	No	Education students	Education	\$40.00	200	\$8,000.00	1/24/2014	6/30/2014
					To teach Computer						
					Software						
					Applications to	_					
		_			Community	Community			• • • • • • •		- / /
Mockel	Dennis	E.	Las Positas	No	Education students	Education	\$30.00	50	\$1,500.00	1/24/2014	6/30/2014
					To teach Career						
					Education to	o					
				N1.	Community	Community	<b>\$</b> 00.00	05	<b>*</b> 750.00	0/00/0044	0/00/0044
Moran	Elaine	nmi	Las Positas	No	Education students	Education	\$30.00	25	\$750.00	2/26/2014	6/30/2014
					To teach Spanish to	Q					
Marrian	A : -1 -	G.		NI-	Community	Community	¢ 40.00	000	<b>*</b> 0.000.00	4/04/0044	0/00/004 4
Moyer	Aida	G.	Las Positas	No	Education students	Education	\$40.00	200	\$8,000.00	1/24/2014	6/30/2014
					To teach Fencing to Community	Community					
Murroy	Stophon	D.	Las Positas	No	Education students	Education	\$40.00	200	\$8,000.00	1/24/2014	6/30/2014
Murray	Stephen	D.	Las Fusilas	INU	To teach Fencing to	Luucation	\$ <del>4</del> 0.00	200	\$8,000.00	1/24/2014	0/30/2014
					Community	Community					
Rheinheimer	Sophie	C.	Las Positas	No	Education students	Education	\$40.00	200	\$8,000.00	1/24/2014	6/30/2014
	Oophile	0.			To teach Fencing to		φ+0.00	200	ψ0,000.00	1/24/2014	0/00/2014
					Community	Community					
Ringener	James	w.	Las Positas	No	Education students	Education	\$40.00	100	\$4,000.00	1/24/2014	6/30/2014
I VIII YEITEI	Jairies	۷۷.	Las Fusilds	UNI			<del>φ4</del> 0.00	100	ψ4,000.00	1/24/2014	0/30/2014

## Informational Report for the March 18, 2014 Board of Trustees Meeting

				New							
				Emp to			Hourly		Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division	Rate	Maximum	Amount	Beg. Date	End Date
					To teach Fitness and						
					Wellness to						
					Community	Community					
Steele	Nancy	L.	Las Positas	Yes	Education students	Education	\$40.00	50	\$2,000.00	3/1/2014	6/30/2014
					To teach Gardening						
					to Community	Community					
Tung	Louann	S.	Las Positas	Yes	Education students	Education	\$30.00	20	\$600.00	3/15/2014	6/30/2014
					To teach Salsa to						
					Community	Community					
Valverde	Luis	nmi	Las Positas	No	Education students	Education	\$30.00	50	\$1,500.00	1/24/2014	6/30/2014
Las Positas College											
						Science,					
						Technology,					
					To provide services	Engineering,					
					for Surgical	Math & Public					
Dorsey	Mark	Ρ.	Las Positas	No	Technology Program	Safety	\$35.00	680	\$23,800.00	3/1/2014	6/30/2014
					To provide						
					supervision for						
					marriage and family						
					therapist internship	Student					
Gioia	Lisa	G.	Las Positas	No	program	Services	\$75.00	100	\$7,500.00	1/2/2014	6/30/2014
					To provide	Science,					
					evaluation and	Technology,					
					assess skills for the	Engineering,					
					Emergency Medical	Math & Public	• • • • •		• • • • • • •		
Goodman	Jenessa	Α.	Las Positas	Yes	Students Program	Safety	\$15.00	100	\$1,500.00	3/17/2014	6/30/2014
						Science,					
					- · · · ·	Technology,					
					To provide lab	Engineering,					
	<b>D</b> : 1 1				coordination for the	Math & Public		100	<b>*</b> • • • • • •		
Holback	Richard	Α.	Las Positas	No	Paramedic Program	Safety	\$50.00	160	\$8,000.00	1/2/2014	6/30/2014

# Informational Report for the March 18, 2014 Board of Trustees Meeting

				New Emp to			Hourly		Maximum	Assign	Assign
Last Name	First Name	мі	Site	District	Duties	Division	Rate	Maximum	Amount	Beg. Date	End Date
McClendon-Hinnenkamp	Wendy		Las Positas	No	To provide support for presenting and promoting the Emergency Medical Services program at Granada High School	Science, Technology, Engineering, Math & Public Safety	\$25.00	8	\$200.00	2/26/2014	2/26/2014
	Wendy	L.			To design and publish College's Summer and Fall 2014 Schedule of	Student	φ23.00	0	\$200.00	2/20/2014	2/20/2014
Rothman	Cheryl	A.	Las Positas	No	Classes To conduct PRIDE series bi-lingual workshops for prospective foster parents per Foster and Kinship Care	Services Foster and Kinship Care	\$25.00	294	\$7,350.00	2/3/2014	4/11/2014
Saenz	Elsa	nmi	Las Positas	No	Education (FKCE) To provide Program Skills coordination for the Paramedic	Education Technology, Engineering, Math & Public	\$65.00	100	\$100.00	1/2/2014	6/30/2014
Stoker	Brian	R.	Las Positas	Yes	Program	Safety	\$25.00	45	\$1,125.00	3/17/2014	6/30/2014
District Services											
Guerra	Blanca	nmi	District	No	To provide emotional and practical support to parents new to the Solano County Child Welfare System		\$12.00	650	\$7,800.00	1/2/2014	6/30/2014